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® Choose the alternative which 1s closely resembles the mirror image of the given
combination.

o 39 faercd 1 I S fou U g <hi gl Bfa o g8 Rl
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® If in a clock 1t 1s 15 minutes past 9, then what will be the measure of the angle
between the hour hand and the minute hand in this situation?

* i< forel SISl H 9 SISTohT 15 THE BT T & 1 36 1€l | EieT 3R HAE shl §3 o sfl o6
RIUT ShT {1 AT BIT?

A. 187
B.162 %
C.172 %
D.167 1/2
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® Canada : Ottawa :: ? [SSC-CGL 2017]
® TSI : JACAT 2 2 2 9

A.France : Rome
B. Kenya : Tehran
C. Norway : Havana

D.Egypt : Cairo



=) SSC CHSL (10+2) 2022

*F:216::L:?[SSC-CGL 2017]

A.1728

u B. 1600
ot C. 1700
\ D.1723
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* In the given pair of numbers, the second number 1s obtained by performing
some mathematical operation/operations on the first number. The same
operation/operations are followed 1n all the number pairs except one. Find the

odd number pair.

* faU U HEr It | gl S, et ST W % U Sishar / |ishad shieh STH
<1 ST 81 Uoh ol DIg Tl S&AT 1 H GHTT HishaT /RT3t shT STaLor fora
STTAT &) ToT9H ST I J1d shifsy)

A.7:392
B.9:810
C. 15:3150
D.12:1872
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® Statements:
* All stones are bricks./F¥T Tc2X %%l
®* No cement 1s brick.ﬁ ‘éﬂ'ﬁ?é‘d’ﬁ%l

® Some marbles are stones./gh@ qTeic] €2 2l

® Conclusions:

® Some bricks are marbles./gh@ EERIEN %l
® Some cement are stone.;% Hﬁ?@?%l
® No marble 1s brick./ﬁ'&g qTeo fsoh 2T 2
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® Statements:

* All apples are bananas./@¥1 T el &l
* All grapes are bananas./g4T 34"13 el Tl

* All bananas are almonds./@¥! ket SIS 2|

® Conclusions:

* All apples are almonds./@t ¥« ST&TH 2|

* All grapes are almonds./@¥T 3T STeTH |
®* No almonds are bananas./ﬁé S IHEERERE
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* [f M stands for '-', N stands for '+', 0 stands for 'x' and P stands for '+', then in

the following equation?' What will come in place of ?

o gfd M RT3 "' 2, N T 379 ' B, 0 7 379 'x' © 3 P 1 379 '+ B, a1 Fmfeifaa

GUIEROT | 2" oh T YT T SATTT?
* (72N 9)04M26P 97T M (36 N2)="2

A.90
B. 85
C.75
D. &0
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® Choose the correct mirror image of the given figure (X) from the four
alternatives?

o IR forehedl § | fau 7 o (X) st wel quur gidfsie <H=?
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* IS'row: 8, 13, 25
* 2" row: 12, 7, 25

® 34row: 9, 15, ?

A.36
B. 30
C.16
D.49
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* If 1t was Saturday on 26th January 2019, then what day of the week was it on
30th January 20227

* I 26 T 2019 T ISR AT, AT 30 ST 2022 hil GHTE ohT shid G o 12

A.Monady
B. Sunday

C. Saturday
D. Tuesday
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* Kapil 1s the nephew of Rajat. Nisha 1s the mother of Rajat. Ramesh has only
two children Rajat and Nilesh. How 1s Nilesh related to Kapil?

® KU, TSI hT VTSI / 9IS 2 91, T <h1 71T @ | T o shddl &l d=d T69d 3T
Frerer B Firoiwr, iU 9 for Tori Geiferd 87

A. Father/fuat

B. Brothelr/‘ﬂ'l";ic

C. Nephew/SdISIT / WiSIT
D. Uncle/=T=IT
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®* Which letter group will replace the question mark (?) to complete the given
series?

* &Y 115 AT ol I h o ToTq ShiH ©1 TR THE Telrereh (<8 (?) i Tidedivd
FHTT?

* XYZA, YACE, ? , AEIM, BGLQ
= \ A.ZCFI

B. ZCIF
C.ZCDE
D.ZCEF
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® In a certain code language, RUMMY 1is written as QVLNX. How will CHESS
be written 1n that code language? [SSC - CHSL 2020]

» forell fferd she W H, RUMMY sl QVLNX foren Sia & | 3t e o
CHESS & 9T foT@T SITaT 2

A.BGFTR
B.BGDTR
C.BIDTR
D.BIFRT
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®* In a certain code language, OPERATION 1s written as PNFPBRIMO. How
will ACCIDENT be written 1n that code language? [SSC - CHSL 2020]

e Us, FAf3d i 99T 4, OPERATION SR PNFPBRIMO o &9 H for@r STt =) 3t
%< WIS H§ ACCIDENT 3 {oh® TohR for ST

A.BADGECRO
B. BADGEFOR
C. ABDGECOR
D.BADGECOR
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* Deepak walked 20 km towards north from his house. Then turning towards
west he went 10 km. Then turning towards south he walked 15 km. Finally,
turning towards East, he walked 10 km. In which direction 1s he from his

home?

* iteh ST B H T ohl IR 20 TerHT =l ThT Tier =ht TR 7Skt 10 Terst | o5t
I&T07 oAt TR SRt 15 TohHT =Iell 3T H, IXST 3ht ST A 10 Tordl =refll =g 7

Y e fesma e ? N \ A. East/‘ﬁ

0 B. West/alsH

_ v/ & C. North/3dY
D. South/gf&ToT
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® Find the value of Question mark.

o 757 I T HH J1d hiTSTU)

A.17
B. 47
C.23
D.73
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*ofc 1g en fe1r gf n

A. Eifgi
B. Figie
C.Ifgie
D. Ifige
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®* Find the next term.

® JTTAT U< JTd IS
*7,18,40,2, 117,172

A.65
B. 289
C.73
D.785



SSC CHSL (10+2) 2022

®* Find the next term.

* AT S HTd hiTwIg|
* 77,49, 36, 18, ?

A.7
B.9
C.8
D.3
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* From the given alternatives select the word which cannot be formed using the
letters given 1n the word.

* [OU TTY {orehicdl H € 978 7e8 Y ST 3168 H {aT 7T ST&R T JANT hieh Tal ST Sl
TohdT ©

* TOURNAMENT

A.MENTOR
B. TENTUR

C.NAMTER
D. TONEME
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Count the number of squares in the given figures.

o S8 SRR 3 it o e R

A.8

B. 12
C.15
D. 18
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How many players are actors?

IEC R CRICCTIE ALY,

chciieni

et

B . 7
| A . N
' \

A.25
B.5
C.8
D.16



